
No part of the candidate evidence in this exemplar material 

may be presented in an external assessment for the purpose 

of gaining credits towards an NCEA qualification.



















 

Achievement exemplar for 91177 2014 Total 
score 

17 

Q 
Grade 
score 

Annotation 

1 A4 

• Explains the mark-up percentage 

• Describes the idea that because Brianna is obtaining the 
inventory at a lower cost, the selling price to customers 
decreases. 

• Explains that the lower selling price has resulted in increased 
sales from 3% to 20%, which means the new agreement has 
been a success for Sweetworld 

2 A4 

• Correct calculations and correct rounding 

• Net profit percentage explained correctly with the trend described 

• Explained that the reason for decreased Net Profit % as a result 
of hiring a new administration person 

• Explained that the finance cost % decreased from 1.3% in 2013 
to 0.6% in 2014 

• Explained the decreasing Net Profit trend is unlikely to continue 
because of steady forecast sales growth and refers to the 
resource where it says Brianna has no reason to hire any more 
staff 

3 A4 

• Correct calculation 

• Describes the Equity Ratio correctly in context 

• Describes that the improved Equity Ratio is a result of reducing 
the loan and uses dollar amounts to support explanation 

• Explains that assets decreased with reference to dollar amount 
(may or may not reference investment – this candidate did) 

• Explains that the improved Equity Ratio will benefit Brianna if she 
wants to expand, as it makes Sweetworld appear more 
financially stable because they have less money financed by 
debt, so therefore a bank will be more likely to lend them the 
money for expansion  

4 M5 

• Answers both parts of the question  

• Explains the reason for the improved inventory turnover is  the 
increase in sales 

• Explains that the reason for an inventory turnover of 30 times per 
year minimum is that fudge and lollies are perishable 

 
 In part (b), explains the current ratio  in context 
 

• Explains that because of the increasing inventory turnover 
generating increased sales the liquidity of Sweetworld has 
improved and they are better able to meet their debts as they fall 
due in the current accounting period. 

 


